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d) Sign at the diagram :
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→ Equal charges repel each other !
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d) SAHoactivec.eu/oubPotential:Vete-Crl---E#
→ Opposite charges attract each other
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Discussion
-

• For Ecw C Zhu no pair - production is possible

• Prediction of QED : non - trivial energy dependence of it

↳ Experimental results verify this additional dependence !

•

Measuring Ogata, as a function of Edm yields the muon hear him
.



J.2-summaryofQEDcalcolafrfl.TT
raw relevant Feynman diagrams .

2
.
Use Feynman rules to calculate all

.

3
.

Calculate INT th = wmk ( use spin- sum relation,)
.

4
.

Evaluate traces ( use trace technology)
.

F
.
Fix a frame of reference and express all 4-momenta in terms of kinematic variables (energies

, angles. . . .)

6
. Plug in X-P in Eq. (4.11) and integrate over phase- space variables that are not measured

.


